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10.1

10.1 Introduction

 Rene

Descartes 1637 ‘La Geom-

etry’

(analytical geometry)
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Geometry, as a logical system , is a means and even the most powerful means

to make children feel the strength of the human spirit that is of thier own

spirit.– H.FREUDENTHAL

René Descartes
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10.3 (i)

10.3 (ii)

10.2.1 (Slope of a line when

coordinates of any two points on the line are given)
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10.2.2 Conditions of parallel-

ism and perpendicularity of lines in terms of their slopes
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10.2.4 (Collinearity of three points)
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10.1
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10.3 Various forms of the equation of a line)
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10.3.2 Point-slope form)
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10.3.4 (Slope-intercept form)
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10.3.5 (Intercept-form)
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10.4 (General Equation of a Line)
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